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// 7 5 ZShopInfo
public class ShopInfo { public void calcTotal(int sales) {
private int code, countBefore, countPeople, countPeople = countPeople + 1;
salesBefore, sales, discount, this. sales = this.sales t sales;
compare, discountPeople; compare = compare + sales;
private String name;
public ShopInfo(int code, String name, public void calcTotal(int sales, int discount) {
int countBefore, int salesBefore) { countPeople = countPeople + 1;
this. code = code; this. sales = this. sales + sales - discount;
this. name = name; this. discount = this. discount + discount;
this. countBefore = countBefore; compare = compare + sales — discount;
this. salesBefore = salesBefore; discountPeople = discountPeople + 1;
countPeople = 0; }
sales = 0; public void outList(int number) {
discount = 0; System. out. printf ("¥t%3d ¥t%-10s", code, name);
compare = salesBefore * (-1); switch(number) {
discountPeople = 0; case 1:
} System. out. printf (" ¥t%4d A ¥t%, 7TdFH¥n",
public int getCode() { countBefore, salesBefore);
[ @ break;
} case 2:
public int getItem(int number) { System. out. printf (" ¥t%4d A ¥t%, 7dH",
int item = 0; countPeople, sales):
switch(number) { System. out. printf (" ¥t%, 7dH ¥t%4d A¥n",
case 1: discount, discountPeople);
item = salesBefore; break;
break; case 3:
case 2: System. out. printf (" ¥t%4d A ¥t%, 7dH¥n",
item = sales; countPeople - countBefore, compare);
break; break;
case 3: }
item = compare; }
break; }

}

return item;
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//7 5 ZSalesAnalysis

import java. io. BufferedReader;
import java. io.FileReader;
import java.util. Scanner;

public class SalesAnalysis {
private static ShopInfol] shop = new ShopInfo[100];
private static int index;
private static void sort(int number) {
for(int k = 1; k <= index; k+t) {
ShopInfo hoz = shoplk];

int m;

for(m =k - 1; m >= 0 & shop[m]. getItem(number) < hoz.getItem(number); m—) {
\ @2 §

}

ifm =k - 1) {
shop[m + 1] = hoz;

}
}
}
public static void main(String[] args) {
index = 0;
try

BufferedReader fileln = new BufferedReader(new FileReader("shop. csv"));
String line;
while((1ine = fileIn. readLine()) != null) {

String[] str = line.split(",");

int code = Integer. parselnt(str[0]);

String name = str[1];

int countBefore = Integer. parselnt(str[2]);

int salesBefore = Integer. parselnt(str[3]);

shop[index] = new ShopInfo(code, name, countBefore, salesBefore):

\ ®) |

}
index = index - 1;
fileIn. closeQ);
fileln = new BufferedReader(new FileReader("selling.csv"));
while((1ine = fileIn. readLine()) != null) {
String[] str = line.split(",");
int no = Integer. parselnt(str[0]);
int customerCode = Integer. parselnt(str[1]);
int discount = Integer. parselnt(str[2]);
int code = Integer. parselnt(str[3]);
int sales = Integer. parselnt(str[4]);

int j = 0;

while(shop[j]. getCode) != code) {
i3t

}

if(discount == 0) {
shop[j]. calcTotal (sales);
} else {
\ )
}
}

fileIn. closeQ);
} catch(Exception e) {

System. out. printIn("T I —=MFELE L + e);
}

System. out. printIn("LEEFR S Z ATIL TL &V, ")
Scanner keyboardIn = new Scanner(System. in);
System. out. print("1 : FiH5E I 245 H5%E L 3 miA e L 0: 8T =");
int number = keyboardIn. nextInt();
while(number != 0) {

[ B |

for(int j = 0; j <= index; j+b) {

shop[j]. outList (number) ;

System. out. print ("1 : g H7e L 24 H%L 3 ATH S 0:#%T =");
number = keyboardIn. nextInt():;

}

keyboardIn. close () ;
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Option Explicit
Dim Hin(100) As String, Tanka(100) As Long, Syu(100, 12) As Long

Private Sub 7 V) 7 Click(Q
Call Syokika
End Sub

Private Sub #71_ClickO
End
End Sub

Private Sub Syokika()
OptionButtonl. Value = True: TextBox2.Text = "": TextBox3.Text = ""
End Sub
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<TUOEEIOITSL>

Private Sub UserForm Initialize()

Dim g As Long, h As Long, i As Long, Bun(4) As Long, Uban As Long, Hiduke As Long, Scod As String, Su As Long, ~ Hiritu As Single
Hin(1) = "A01": Hin(2) = "A02": ~ Hin(99) = "S39": Hin(100) = "S40"
Tanka(1) = 65000: Tanka(2) = 75000: ~ Tanka(99) = 6000: Tanka(100) = 2800
TextBox1. Text = ""
Call Syokika
For g = 1 To 100

For h =1 To 12

Syu(g, h) =0

Next h
Next g
For 1 = 0 To 4

Bun(i) = 0
Next 1
Open ThisWorkbook. Path & "¥uriage.csv" For Input As #1
Do While Not EOF(1)

Input #1, Uban, Hiduke, Scod, Su

Tuki = Int(Hiduke / 100)

Sbun = Left(Scod, 1)

Select Case Shun

Case "A"
Soe = 1
Case "C"
Soe = 2
Case "J"
Soe = 3
Case "S"
Soe = 4
End Select
i=1
Do While Hin(3) <> Scod
i=it1
Loop

\ i)

Kin = Su * Tanka(j)
Bun(Soe) = Bun(Soe) + Kin
Bun(0) = Bun(0) + Kin

Loop
Close #1
For k =1 To 4
Hiritu = Bun(k) / Bun(0)
TextBoxl. Text = TextBoxl.Text & " " & Format([__(2) |, "#, ### ##4,#80") & " " & Format(Hiritu, "#0.00") & Chr(13) & Chr(10)
Next k
TextBox1. Text = TextBoxl.Text & " " & Format(Bun(0), "#, ###, #i#, ##0")
End Sub

Private Sub 3#7_Click(O
Dim Hajime As Long, Owari As Long, m As Long, n As Long, p As Long
TextBox3. Text = ""
If OptionButtonl.Value = True Then
Hajime = 1: Owari = 12
Elself OptionButton2.Value = True Then
Hajime = 1: Owari = 6
Elself OptionButtond.Value = True Then
Hajime = 7: Owari = 12
Elself OptionButton4.Value = True Then
Hajime = Val(TextBox2. Text): Owari = Hajime

End If
For m = 1 To 100

Syu(m, 0) =0

For n = | (3) |

Syu(m, 0) = Syu(m, 0) + Syu(m, n)

Next n

Syu(m, 0) = Syu(m, 0) *
Next m

For m = 2 To 100

For p = 0 To 12
Syu(0, p) = Syu(m, p)

Next p

Hin(0) = Hin(m): Tanka(0) = Tanka(m)

n=m-1

Do While n >= 1 And Syu(n, 0) < Syu(0, 0)
For p = 0 To 12

\ (5)
Next p
Hin(n + 1) = Hin(n): Tanka(n + 1) = Tanka(n)
n=n-1
Loop
If n <> m -1 Then
For p = 0 To 12
Syu(n + 1, p) = Syu(0, p)
Next p
Hin(n + 1) = Hin(0): Tanka(n + 1) = Tanka(0)
End If
Next m
For m = 1 To 100
TextBox3. Text = TextBox3.Text & " " & Hin(m) & " " & Format(Syu(m, 0), "#i##, ###, ##0") & Chr(13) & Chr(10)
Next m

End Sub
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<COBOL7Z7Oo34>
WORKING-STORAGE SECTION
{

01 ZAI-TBL.
02 ZAICOD PIC X(05) OCCURS 51.
01 SYU-TBL.
02 SYU-T OCCURS 51.
03 SYU PIC 9(05) OCCURS 6.

!
PROCEDURE DIVISION
P1. OPEN INPUT MZAIRYO-F SIYO-F OUTPUT NZAIRYO-F ITIRAN-F
INITIALIZE G-SOE SYU-TBL MEISAT
PERFORM MST-R THRU TRN-R
PERFORM UNTIL | i
EVALUATE TRUE
WHEN M-COD = S-COD
COMPUTE G-SOE = G-SOE + 1
MOVE M-COD TO ZAICOD(G-SOE)
PERFORM UNTIL M-COD < S-COD
COMPUTE M-ZAT = M-ZAT - S-SIY
COMPUTE SYU(G-SOE S-BAN) = SYU(G-SOE S-BAN) + S-SIY
\ )
PERFORM TRN-R
END-PERFORNM
T @ ]
THEN
DISPLAY N-COD "O#E#FFEL T L&
END-TF
WRITE NZATRYO-R FROM MZAIRYO-R
PERFORM MST-R
WHEN
DISPLAY S-COD "® 3 — FidMklw 24 7 » 1 Vich h FHA"
PERFORM TRN-R
WHEN OTHER
WRITE NZATRYO-R FROM MZATRYO-R
PERFORM MST-R
END-EVALUATE
END-PERFORM
PERFORM VARYING R FROM 2 BY 1 UNTIL R > G-SOE
MOVE SYU-T(R) TO SYU-T(51)
MOVE ZAICOD(R) TO ZAICOD(51)
COMPUTE HAJIME = R - 1
PERFORM VARYING T FROM HAJIME BY -1 UNTIL T < 1 OR SYU(T 6) >= SYU(51 6)
\ ) |
MOVE ZAICOD(T) TO ZAICOD(T + 1)
END-PERFORM
IF T NOT = HAJIME
THEN
MOVE SYU-T(51) TO SYU-T(T + 1)
MOVE ZAICOD(51) TO ZAICOD(T + 1)
END-IF
END-PERFORN
PERFORM VARYING R FROM 1 BY 1 UNTIL R > G-SOE
MOVE ZAICOD(R) TO ZAICOD-M
PERFORM VARYING S FROM 1 BY 1 UNTIL S > 6
MOVE SYUR S) TO SYU-M(S)
END-PERFORM
WRITE ITIRAN-R FROM MEISAI AFTER 1
END-PERFORN
CLOSE MZAIRYO-F SIYO-F NZAIRYO-F ITIRAN-F
STOP RUN.
MST-R.
READ MZAIRYO-F
AT END
MOVE HIGH-VALUE TO NM-COD
END-READ
TRN-R.
READ SIYO-F
AT END
MOVE HIGH-VALUE TO S-COD
END-READ
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(Javal @ =, BEFOGRROEADIIRHET,
[71] (I)[return code, L
<2) S\h\o\p\ [\m\ \+\ \1\]\ \:\ \S\h\o\p\ [\m\:l\
(3) i\n\d\e\X\ \:\ \i\n\d\e\X\ \+\ \1\ Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il
M|/shop [j]. calcTotal (sales, discount)
B)lsor t (number)
(U 058E) B KXFE, IWNEELU=, BEEFOFEROZAIIMPEL,
[71] M|Syu (j, Tuki) = Svyu (j, Tuki) + Su,
<2) B\u\n\ gk\)\ Il Il Il Il Il Il Il Il Il
B)Ha jime To Owari
4)|Tanka (m) | L L L
G)Syu (n + 1, p), = Syu (n, D). .
(COBOL)
(71 [OM_-COD = HIGH VALUE AND S COD = HIGH VALUE __
<2) C\O\M\P\U\T\E\ \S\Y\U\ (\G\_\S\O\E\ \6\)\ - \S\Y\U\ (WG\_\S\O\E\ \6\)\ \+\ \S\_\S\I\Y\
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